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Class example for Friday September 16. Reduced row echelon form of matrices is unique, uniike row—echelon
form. Good software implements Gaussian elimination to do this computation:
{_::> with{ LinearAlgebra) : #Maple linear algebra library
o A= Marrix(3.5,[1.-2.3,2,1,2,-4,8,3,10,3,6,10,6,5]) :
#our matrix of coefficients with 3 rows and 5 columis

b= Vector(3,[10,7,27]) :#right hand side column vector

Acugh = (Alb); #the augmented matrix

Answer = ReducedRowEchelonForm{Aaugh):

Aaugh=1 2 -4 8§ 3 10 7
L
33 -6 106 5 27
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